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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Who is the author of ‘By Many A Happy Accident: Recollections of a Life"?

g B T A uRiiSe: ReaRid ot ¢ aRe’ & aee $H 82

A Manan Bhatt T g

B Ramachandra Guha IR T

c Samar Joshi TR St

D Mohammad Hamid Ansari Higwg gIfie SRt

Q.No: 2 Who is the current Director General of International Solar Alliance? g R M F T Helew® HH 82
A Ajay Mathur SoTT HIYY

B Virat Chandra fimme 9=

C Arun Kumar Mishra 3V HHR fsm

D Jaideep Govind wadiy Tifde

Q.No: 3 Which of the following dance belongs to the North-Eastern Region of India?

FrafifEa 4 3 o a1 79 YRa & Ie-gdf 8 et 2

A Jawara ST

B Ghoomar TR

C Lavani wrauft

D Manipuri ﬂﬁl‘g’ﬁ

Q.No: 4 Forex Reserves of India is managed by YRGS Mg SR ST UeeA _ gRI o oman 81
A Home Ministry § HATTT

B SBI Qe ¥ 3ife sf¥ar

c RBI YR frod 3

D Finance Ministry o warem

Q.No: 5 What is not included in the monetary measures to control inflation?

TEREifd R e & Afte Surdl § g wite 781 @ 2

A Increase in Debt it & gfS

B Increase in REPO MR A IS

G Increase in SLR THTESR | gfs
D Increase in CRR Wemmem A g

Q.No: 6 The correct statement regarding the book 'Bijak' is -

Jd o & ey H T FUR -

A It comprises of four main sections. sﬂﬁ IR &1 e it ?-

B It is a compilation of the verses of Kabir. g AR & el BT Sha &

C It is vast collection of Sermons and Hymns of 5 Sikh Gurus. qe 5 ﬁlﬁﬂ'ﬁéﬁ & Ui 3R el @1 fawme L:pEd %
D Bijak is a Jain Holy book. mwéqwﬁam%

Q.No: 7 Select the incorrect statement about SBI(State Bank Of India)

A It is a public sector bank

SBI (MRdIG e §%) & SR T Tad HYH $I 997 B
g TS Aidure 8 3195 ¢



It was established in 1 July 1955
Cc It's headquarters are in New Delhi

It is the largest bank in India

Q.No: 8 Who among the following sufis said that India’s Kashmir is the 'Paradise on Earth'?

A Nizamuddin Auliya
B Amir Khusrau

C Amir Khurd

D Baba Farid

Q.No: 9 The Ain-i-Akbari section of book ‘Akbarnama’ tells about?

A The religious policies of the empire.

B The justice system of Akbar’'s empire.

(o} The laws and revenue system of Akbar’s empire.
D The life of Akbar.

Q.No: 10 Which book was written by ‘Ashvaghosha’ based on life of Gautam Buddha?

A Arthashastra

B Malavikagnimitram
C Buddhacharita

D Kiratarjuniyam

Q.No: 11 Bamboo staves are used in which of the following dance?

A Hojagiri

B Bhortal Dance
Cc Cheraw

D Chang Lo

Q.No: 12 In which of the following year, the nationalization of banks was made in India?

A 1967
B 1965
C 1969
D 1964

Q.No: 13 Which of the following mentioned below is the largest freshwater lake in India ?

A Loktak lake
B Waular lake
G Dal lake

D Bhimtal lake

Q.No: 14 Raslila is famous folk dance of which of the following Indian states?

A Uttar Pradesh
B Rajasthan

C Maharashtra
D Haryana

Q.No: 15 What is the open area of the river where there is the effect of the ocean and the tides called?

A Gulf

B Pocket Beach
C Delta

D Estuary
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B
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Q.No: 21
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Q.No: 22
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Q.No: 23

o 0O W >

Dadra folk dance is related to which of the following states?
Chhattisgarh

Rajasthan

Uttar Pradesh

Jharkhand

Which is the largest salt water lake in India out of the following and it is found in which state?
Kaliveli Lake, Tamil Nadu

Pulicat Lake, Tamil Nadu

Chilika Lake, Odisha

Pangong Tso, Ladakh

Which of the following dance is associated with the worship of snake goddess Manasa?
BhortalNritya

Bihu

Deodhani

Bagurumba

Which of the following personalities organized the two important festivals Ganesh and Shivaji?
Bal Gangadhar Tilak

Lal Bahadur Shastri

Lala Lajpat Rai

Ishwar Chandra Vidyasagar

Which of the following personalities was described ‘the finest athlete India has ever produced’ by
journalist Rohit Brijnath in 2008?

Mirabai Chanu
Milkha Singh
Ravi Kumar Dahiya

Lovlina Borgohain

A/An" " is a species of organism that can no longer be found in the wild or in captivity.
Flora

Extinct species

Endemic species

Endangered species

The sky looks clear blue due to phenomenon of
Reflection of light
Refraction of light
Scattering of light

Dispersion of light

is published by the International Union for Conservation of Nature and Natural Resources

(IUCN).

Species listed book
Red data book
Forest book

Blue data book
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Match the following:

1 Fungi a Spirogyra
2 Algae b P. notatum
3 Bacteria c E .coli

1-c, 2-b,3-a

1-b, 2-a, 3-c

1-b, 2-c, 3-a
1-a, 2-b, 3-c

and are two types of chemicals used in agriculture that cause water pollution.

Feron and DDT
Chlorofluorocarbon and Feron
DDT and fertilisers

Pesticides and fertilisers

A is used to generate electricity.
Lignite

Anthracite

Bituminous

Peat

Sound cannot travel in ______
Solid

Air

Vacuum

Water

Direction: The following question consists of two statements one labeled as “Assertion” and the other as
“Reason”.You have to examine these two statements carefully and select the correct answer to the

question from the given options.

Assertion: (A) owl, sparrow, newts are the members of vertebrate animals.
Reason: (R) vertebrates possess vertebral column.

(A) is true and (R) is false

(R) is true explanation of (A).

(R) is the wrong explanation of the assertion (A).

(R) is true and (A) is false

Which one of the following is the characteristic feature of phyla Bryophyta?
pine and cedar

green leaf like-plant

simple plant

flowering plants

Which one of the following is the exception?
squid

oysters

loligo

bugs
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2 sarer b |y,
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1-a, 2-b, 3-c
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Q.No: 38

is also used to run electric generators.
Diesel
Kerosene
Paraffin wax

Petrol

What was the theme of World Environment Day 2021?
Restoration of biota

Ecosystem restoration

Nature’s choice

Choose nature this time

A high level can cause rapid breathing and confusion.

Magnesium oxide
Sulphur dioxide
Nitrogen dioxide

Carbon dioxide

A force which always opposes the motion is called
Electrostatic

Gravitation

Magnetic

Friction

The law of conservation of mass was given by :
Albert Einstein

Maxwell

Lavoisier

Dalton

Choose the correct mirror image of this combination- KUIHFXSXVDD6498FDS.

2d72RkAAVZ2YAHIAU
2d12Rk0UAVZ2ZAHULA
2120 AAVZ2ZIIHUA
2072k aVZ2ZTHIUA

In the following question, a series of letters is given. Some letters have been removed in these series, and
they are in the options given below the series in the same order as they should be. Study the given series
carefully out of the four alternatives given below, and find the one that best fits in place of the missing

letter of the series.

Choose the correct mirror image of this combination- EQLG.
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39 HISH @1 el GV BT - KUIHFXSXVDD6498FDS
20920V ZeZAHIAU

2di2erddavVZ2ZIHULA
2d1eRkodavVZ2ZAIHUA
2072k VARZTHIUA
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Q.No: 44

0ol
O3ol

If P + Q meansP is the wife of Q. P x Q means P is the sister of Q. P % Q means P is the brother of Q
and P-Q means P is the father of Q . Which of the following means T is the daughter of A?

A-B+C%DxT
T-D+BxA%C
AxB+C-D%T

A+B-C%TxD

A is the brother of E and E is sister of I. I is brother of O. How is O related to A?
Daughter

Brother or Sister

Sister

Brother

Given question has main statement followed by four statements. Choose the ordered pair of statements,
where the first statement implies the second, and the two statements are logically consistent with the main
statement.

The card is printed by either the publisher or by the press
A. The card is printed by the publisher

B. The card is not printed by the publisher

C. The card is printed by the press

D. The card is not printed by the press

DA

AC

BD

AB

In the following question, a series of letters is given. Some letters have been removed in these series, and
they are in the options given below the series in the same order as they should be. Study the given series
carefully out of the four alternatives given below, and find the one that best fits in place of the missing
letter of the series.

Select the Lettered pair that has the same relationship as given in the question:
Theft : Confess

Fault : Admit

Mistake : Agree

Murder : Commit

Fight : Dare

Given question has main statement followed by four statements. Choose the ordered pair of statements,

0ol
O3ol

AP+ QIITEFHP, QP T I PxQHHT & H P
AE T IRP - QFIHNE TP, Q &1 ar g PAFafaf@a #

A-B+C%DxT
T-D+BXxA%C
AxB+C-D%T

ATB-C%TxD

A EFTUE T IRE, [ B a6 311, O FTUE §1 0, A Qg uoR
Eil

uTE 1 95

g6

urg

U T vy & GBI Y SR IUF 9% IR HUF g1 HYA $T HiAd gW
P b U J G HF A T1d 8

HIE UHTIE A I gRT G foran S &
A, FTE USRS gRI Gfa e s &

B. TS WO GRT Hfsd e foan s @
C. 1S I gRI Hfea fovan o §

D. FTS I g1 Tfsd T foban S @

DA
AC
BD
AB

T uy 3 sl 9 tw gaa @ S 81 37 gaash § 5O 3eR
3 7 72 90 9 8 AR A R Ty AR R 39 A
F RIF R 93 [qHed I ol 999 I9g g

bbaa
aabb
abbb
abba

I 3ER g BT 9T Y oradT Gey Uy § Ry e v ey A R
I : T

3 : WieR

et : HEHd

BT : BT

o : fewa e

T T vy & GBI T IR IF §1G IR HUA §1 B B BT g

where the first statement implies the second, and the two statements are logically consistent with the main 49 qifes TUd A YT J T gl

statement.

The bank is either private or public

& 71 et & ar wrdee



A. The bank is private A ¥ Bl ®

B. The bank is not private B. §& foht gl §
C. The bank is public C. ¥ udefie §
D. The bank is not public D. §% gdui-® T8l §
A AB AB
B AC AC
(o} DA DA
D BD BD
Q.No: 45 M is the brother of N and N is sister of O. O is brother of P. How is P related to M? M, NPT HE & AR N, O BTG 81 0, P HT UK 81 P, M I 5 uat
A Sister Grgl
B Brother or Sister ‘{T&‘ qi 984
(& Daughter &
D Mother at
Select the Lettered pair that has the same relationship as given in the question: I 31ER H BT 997 DX ot Jay Uy F 3 70 99 deiy | B:
IR Dog : Kennel Dl AT R
A Sports : Stadium o : wfsam
B Cow : Barn g : g
C Sheep : Flock qs: S
D Horse : Carriage ﬂ%‘l B m:éﬁ
Select the correct mirror image of the given figure when the mirror is placed to the right of the figure. & 7S apfa @t wE U1 BA T IO T 9 U B P F < M

=~
1
D
8

i:ilfct the option that is related to the third word in the same way as the second pair is related to the first Safl 1T B S AR e @ 3 iR 2 9 g

Q.No: 48 : . .
Fag : TRy o el ;2

Kabaddi : Bangladesh :: Archery : ? : . o
A Bhutan K GE]
B China 9=
C India YR
D Japan S

Select the letter-cluster that can replace the question mark (?) in the following series. Frafafad e & 39 sHeRr-THg &1 991 HX o wy g (2) i ufow
Q.No: 49

CEG, HIL, MOQ, RTV, ? CEG, HIL, MOQ, RTV, ?

A YCA YCA



Q.No: 50
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Q.No: 52

o 0 w >

Q.No: 53

Q.No: 54
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Q.No: 55

o N0 w

WYA
sQu

Select the option that is related to the third word in the same way as the second pair is related to the first

pair.

Nepal : Kathmandu :: China : ?
Delhi

Seoul

Beijing

Tokyo

Choose the correct mirror image of this combination- YUFA46H
Hok7AUL
HOLATYYU
HokAUTY
HokAAUY

Given question has main statement followed by four statements. Choose the ordered pair of statements,
where the first statement implies the second, and the two statements are logically consistent with the main

statement.

The documents will be submitted by either the employee or the recruitment agent

A. The documents were submitted by the employee
B. The documents were not submitted by the employee
C. The documents were submitted by the recruitment agent

D. The documents were not submitted by the recruitment agent
AB
CA
BD
DA

Choose the correct mirror image of this combination- NBHK37L.
JVeAVEH
JIveIHau
JVeAgHU
JITeAdHAd

Ramu and Shyamu are brothers. Aditi and Bela are sisters. Adiiti’s daughter is Ramu’s sister. What is Bela’s

relation to Shyamu?
Mother
Grandmother
Sister

Aunt

A is the brother of B. C is the sister of A. If B is a boy then how B is related to C?

Nephew
Brother
Sister

Niece

WYA
sQu

I e o1 909 X S AW Tes F I 7R Feifa @ SR g g
AU : BloAIG 2 A 2 ?

foeeht

R

EilEu|

T

39 oA 1 T8 40 Bfd FH- YUFA46H
Hol- 74U L
Hotr 77U
HobkrUTY
Holk£AUYY

2T T Wy 7 81 FA R IP AIE IR HYA g1 B $1 HiAd TH
P AIfHS T T $Y J W ¢

TS FHART A1 1l T GRT IR e S
A, FHAN gRI SIS S g g 4

B. HHARI GRT T S el T 7T &

C. *ff Tole grT Gxarde o fe e

D. *ff Tole gRT Sxardst S el by e 4
AB

CA

BD
DA

39 WUIoE @1 9 <00 Bfd - NBHK37L
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The time, in which Rs 2000 will amount to Rs 2420 at 10% per annum compound interest, when
the interest is compounded annually is:

3yr
4yr
2yr
S5yr

9% 99Y I B, R 2000 T 10% U a9 $1 &R F THgfs W W 2420

3ad
a9y
29d
sad

Rohit bought an old car for Rs. 19000, then he spent Rs. 1000 on its repairs and sold it for Rs. 25000. Find  fgd 7 19000 ¥4 H & R $R G4, X I 391 TR T

his loss or profit percent.
10%
20%
25%
15%

Find the percentage of number from 1 to 35, Which has 1 and 9 in unit’s place.
40 %
25 %
20 %
35 %

At what rate percent per annum will a sum of Rs. 14,336 amount to Rs. 20,412 in three years, if the

interest is compounded annually?
12%

12.5%

15%

10%

The price of rice has increased by 60%. In order to restore the original price, the new price mustbe
reduced by

w|R
2

“\L;: u| S
b3

o~

w3
3

A man gains a profit of Rs.40 after selling an item. If the cost of the item is Rs.800, find the percentage of

profit.
8%
7%
5%

4%

There are five boxes in cargo hold. The weight of the firstboxis 200 kg and the weight of

the second boxis 20% higher than the weight of the first box, and the third box whose weight

is 25% higher than the first box’s weight. The fourth box at 350 kgis 30% lighter than the fifth
box. Find the difference in the average weight of the 4 heaviest boxes and the four lightest boxes.

20 kg
40 kg

35 kg
75 kg

fean S9! g1 a1 v wfowra 1 9 B
10%
20%
25%
15%

19 35 7% @I G 1§ 3P & VA W 1 3R 9 3 ar Fomasdi «
40 %
25 %
20 %
35 %

e = aiftfes 9 F fiyerar @, o ufd o 91 59 o W 7 a6 # Rs.1

12%
12.5%
15%
10%

T1ae &1 BIHA H 60% BIFC] B G618 g3 8| Jd PIHa &
foar s =nfee

TF AfE $I U6 a¥g 99 | Rs.40 T 1Y Trahl ¢ AfS g &1 44 £

8%
7%
5%

4%

P11 gics H Uit §iay &1 Ugd aiad o1 g 200 fpamm
Ugd G109 & aoi 9 20% 3D g, AR a1 alay foraa «
25% D 1 T ST BIdor 350 fPamm g S g &
IR T4 UK 169 3R IR Y gow aiqd & {ad ao ¢
20 fFamm
40 frarm
35 fHam

75 frdmm
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What will come in place of question mark (?) in the following expression?

(144)7 x (1728)% =+ (12)!2 = (144)? x (1728)?

A shopkeeper bought 60 items at Rs 120 per item. He sold 40 of them at Rs 150 each. 10 of them were
defective and the shopkeeper can‘t sell them. What should be the selling price of each remaining item to

get a profit of Rs 8007
Rs 180
Rs 150
Rs 220

Rs 200

Kabir earns 45% of his investment, if he earns Rs.8190, then how much did he invest?

17,500
18,200
16,000
19,000

If the SI on a sum of money at 4% per annuum for 2 years is Rs. 360. Find the CI o el o TR R 4%
(]

of the same sum for the same period at the same rate.
564.42

864.32

367.2

1461.2

42 % of 250+ 25 % of 420

210
220
200

564.42
864.32
367.2

1461.2

Selling an furniture for Rs 200 results in a loss of 50%. For what price must the furniture be sold in order

to make a profit of 25%?
Rs 540
Rs 320
Rs 400
Rs 500

Q.No: 69 A sum amounts to Rs. 785.25 at 10% per annum in 2 years, compounded annually. Find the sum.

A

B
c
D

Q.No: 70

Rs.302.102
Rs.648.966
Rs.980.342
Rs.321.288

A car owner buys petrol at Rs 7.50, Rs. 8 and Rs. 8.50 per litre for three successive years.

What approximately is the average cost per litre of petrol if he spends Rs. 4000 each year?

y 4

rffd <dete # yeet [igst (?) & T TR &R 3TeeT

(144)7 x (1728)% + (12)*% = (144)’ x (1728)?

& GHMGR 7 120 F9 Ui a%g B &R 60 TG Wl I I {
I ¥ 10 TS A 3R PR S 99 T Gl
800 ¥TY &1 T U P & T Tde Ay a¥g Bl [3ha e 1 &

180 ¥7d
150 ¥9d
220 ¥73
200 ¥9d

FER ST (3 BT 45% FHCI ¢, 3FR 8 8190 FUJ HACI 3, A <
17,500
18,200
16,000
19,000

ufa af 3 @R F 2 3 FT WURY S 360 T B, A& IH R R AR

120
210
220
200

TF TR BT 200 T & 99 | 50% Pt 8 E6ll 81 25% &1 Y &

540 ¥
320 ¥
400 F9Y
500 37

qIME Thgfs X W 10% e o011 Hi X F 2 qul H T A 785
Rs.302.102
Rs.648.966
Rs.980.342

Rs.321.288

TP R HIferd TER dF 381 & o 7.50 F0, 8 TUF 3R 8.50 N

T 98 ufd af 4000 T Td HRaT &, df Ui fiex USia B Sha
7



10 10

9 9
D 8 8
Which of the following will come in the place of question mark? Frafufed & 3 T uyaree &5 & RFE W g ?
Q.No: 71
-abb--bb-a-bbab - -abb - -bb -a-bbab -
A ababaa ababaa
B aaaabb aaaabb
c bbabbb bbabbb
D bababa bababa
Find the missing term. @ Ug T4 DIl

o (SN NPA
VDY Y/

A 51 51

B 60 60

C 55 55

D 63 63

Q.No: 73 If AT = 20 and BEG = 70, then BANK = : I AT = 20 3R BEG = 70, & BANK =
A 282 282

B 308 308

c 318 318

D 228 228

In the question given below, some statements are given followed by few conclusions. You have to consider R Ry v A, s 3R S a1 o frspd Ry T

the statements to be true even they seem to be at variance from commonly known facts. You have to an
RER!GIGH | UH| T8 T P & [ el § G P
decide which of the given conclusions, if any follow from the given statements. Ll w® #fRem

DY
) All orchids are flowers. ot sifids ga Bl
Q.No: 74 ) - W%]

Some orchids are beautiful.

Statements:

Conclusions: freed:
1. Some flowers are beautiful. L 36 Ba YR &
I1. All beautiful are flowers. I g T &
A only conclusions II follows Fad Fread 11 SwR Sar @
B both conclusion I and II follow fred 1 3R 11 3T erawurm |
' either conclusion I or II follows a1 4t Fresd 1 a7 11 SgER SRt g
D only conclusion I follows Fad fresd 1 SR HRAT 2
If 'pink' means 'yellow'; 'yellow' means 'white'; 'white' means 'blue’; 'blue' means 'red'; 'red’ means 'black'; afe Tarat &1 orf 'diar B, diar &1 o wlhe, whe &1 orf e,
Q.No: 75 and 'black’' means 'green’; then what is the colour of clear sky? o1 34 & ?», A S FT 3T 71 gIm?
A Black el
B Green T
C White R
D Red ard

Q.No: 76 In a row, Marigold is 12th from the left end and Lotus is 27th from the right end, when they interchange Tw iR, A a1 R 129 R deg g SR A 274 WA T
their positions respectively, Marigold becomes 35th from the left end. So what will be the position Iiiics 9/ SR A 3591 8 WidT 31 df 2@ BR A AIey BT H T8



o 0o w >

Q.No: 77

o 0 @ »

Q.No: 78

o 0 m P

Q.No: 79

o N0 w

Q.No: 80

O 0 W >

Q.No: 81

o 0 w >

Q.No: 82

of Lotus from the right end?
45th
31st
50th
20th

X is the 8th from the left end and Y is the 12th from the right end in a row of boys. If there are the 10

boys between X and Y. How many boys are there in the rows?
30
20
15
22

Find the missing term.

441
141
414
144

M, N, R and T run in a race. M finished the race immediately after N but no one finished the race after M. R
finished the race before of N but could not finished before of T. Who is the second winner?

T

R
M
N

In the question, assuming the given statements to be true, find which of the two conclusions I and II given

below them is/are followed.
Statements:

I. All platforms are cars.

II. Some cars are passes.
Conclusions:

I. All platforms are passes.

II. Some cars are platforms.

Only conclusion I is true

Both conclusions I and II are true
Only conclusion II is true

Neither conclusion I not II is true

If SUN is coded as NUS and TOP is coded as POT, then which is the last letter in the code for the word

FUR?
E

R
u
E

Which of the following will come in the place of question mark?

458
31
504t
204t

TSH! Bl U Ui A X 91 R 8at § qul v < SR | 1241 81 IR
1 dfd § e @s% €2

30

20

15

22

W & F1d Dol

441
141
414
144

M, N, R 3R T 0% 2 # g 81 M 3 N & q¥d 915 ar 33 @1 aifd
45 gt @1 Afes T A v drs O el R W11 I i B 2

T

R
M
N

vy ¥, Ry U Fu %1 9 7 g, I B fF 3% R e
DY

1. ot wewH FR g

1. $& BR U9 g1

ﬁﬁ'ﬂf:

1. Tf Qewnf uw {1

11 $9 BR Wewi 1

Foafrwdraa

freed 1 3R 11 P ww

Faa Fread 1190 &
AafefrdRa@finaad

T SUN &I NUS & =1 & ferar wirr & $iR TOP &1 POT & =U 3 fora

m ec ®m» m

fufafea & 3 o1 wyaes fae & RF R oM ?



o N @ P

Q.No: 83

o N0 W

Q.No: 84

o 0 w »

Q.No: 85

o 0o W >

Q.No: 86

o 0 w >

Q.No: 87

o 0 w >

Q.No: 88

st_v_ _ uvst_

ustuv
stuut
tustu

stuts

If D = 4, DOG = 26, then find the value of ANIMAL = ?
50
49
47
48

Find the missing term.

VAN
ZEVAEN

40

36
55
a8

Read the following information carefully and answer the question given below:

(i) A, B, C, D, E, F and G are siting around a circle and facing the centre.
(ii) G is second to the left of C, who is to the immediate left of F.

(iii) A is third to the left of E.

(iv) B is between D and E.

Who is seating between B and G?

E
E
D
A

The area of an equilateral triangle is 164/3 sq cm. Find its perimeter.

32cm
12cm
24 cm

16 cm

Simplify:
92 x62+32=7

948
972
984
1012

A trapezium whose parallel sides are 9 cm and 18 cm, and distance between is 22 cm, find the area of

trapezium?

300

st_v_ _ uvst_

ustuv
stuut
tustu

stuts

If& D = 4, DOG = 26 Tl ANIMAL &1 T 1d HifT?
50
49
47
a8

40
36
55
48

FufifEd THeRt 1 aryds ¢ ok R fiw e uy &1 IR 3
(i)A, B, C, D, E, F 3R G U@ g0 & IRI 3R 33 ¢ 3R I 3 8k
(i) G, C & i 3R g WA R &, W F F i ardl 3R 31

(iii) A, E & o 3R I w181

(iv) B, D IREF HT B

B 3R G ¥ o9 $1 da1 22

E

F
D
A

T [AATG XS B AAGA 163 a9 Jell §1 SHH o

329
12 9t
24 9t
16 A7t

AP DR
9B x62+32=7?

948
972
984
1012

& THad st TR yord 9 ¥t ok 18 ¥t €, ok it gf

300



250 250

c 297 297
180 180
I WY TR qd A SO gof Bt o g 71 3@: T: SURY o Tl B
Q.No: 89 Which of the following is divisible by 8? Fofafaa # & o 8 | fvrsa 32
A 874690 874690
B 75458 75458
c 87542 875424
D 828272 828272
A man had three sons and they were born at an interval of five years. The sum of their ages five years from T® 3Gl & dIF 3¢ & 3R 3§ T Ad F SfaRTeT W Je1 5T A1 3@ J 1
Q.No: 90 . . . - ¢~
now will be sixty years. What was the age of the youngest son five years ago? (in years) d a8 Bic GF @1 g g A (aut #H)
A 20 20
B 5 5
€ 15 15
D 10 10
Q.No: 91 The value of 23%*44+8%71/gx+1.23x=2 g 2344 8x1/8* L T I §
A 4 4
B 3 3
c 5 5
D 6 6
Simplify- A BIfoTg-
Q.No: 92 2 2
(V12444 — 2.5) + 1.69 (V1242 — 2.5)" + 1.69
A -1 -1
B 0.625 0.625
(o} 3.38 3.38
D 1.25 1.25
Q.No: 93 Which of the following is divisible by 9 but not 6? Fafafed & A o1 9 I faursa 8 Afe 6 F =12
A 2365 2365
B 7464 7464
[o] 9099 9099
D 1666 1666
What value would come in place of the question mark (?) in the following equation? Frafafaa qeitezu # uyars & (?) & RIF | 1 7H 1Qm?
Q.No: 94 ” 3 2 2 a7 3 2
V97336 +\/6889-Z—2'-;of65+5 =43 V97336 +1/6889 -:-2‘—653?T;+5 =43
A 2
B 4 4
& 16 16
D 8 8
Q.No: 95 Thrice a number exceeds its three-fourth by 36. Find the number? T T &1 fargn oo dH-919rE | 36 ¥ oifdw 71 e I sl
A 12 12
B 16 16
(6 14 14
D 18 18



The LCM and HCF two consecutive even number is 84 and 2. Find the sum of reciprocals of these two

Q.No: 96 < BN 9 S BT 4.9.9, 3R A.9.9. HI: 84 3R 2 1§+
numbers?
= b
A 85 85
= 12
B 15 19
= ]
c o 3
= 1
D 83 3
Q.No: 97 The sum of three consecutive number is 123.The smallest number is? TR & ST & GrT 123 31 Ie9 B TE 32
A 40 40
B 41 41
o 32 32
D 34 34

The traffic lights at 3 different road crossings change after every 48 sec, 72 sec and 108 sec respectively. If 3 3{T-3( IS HIRM R b AZeH UdD HA: 48 Fs, 72 3

Q:No: 98 they all change simultaneously at 8:20 am, then what time they will again change simultaneously FaE 8:20 9 UH Ty Feadt &, ol 4 fry a9 fR & o a1y gea
A 8:40 am 4% 8:40 T
B 9:12 am qaE 9:12 79
c 8:27 am |aE 8:27 T
D 8:33 am |aE 8:33 a9

Q.No: 99 4 Bells toll together at 11:00 A.M. They toll after the interval of 7, 8, 10 and 18 seconds respectively. How 4 Hfedi T T Y€ 11:00 T Toict §1 § HAW: 7, 8, 10 3R 18 F

many times will they toll together again in the next 4 hours? TR R & ua Ty Tty

A 5 5

B 4q 4

C 6 6

D 3 3

Q.No: 100 Which of the following is divisible by 18? Fafifea 7 @ $4 18 § fRvrsg &2
A 129804 129804

B 127548 127548

& 657232 © MPESB. All rights resg82232

D 654776 654776



